Packet Throughput: vhost-12sw-2n-skx-x710-64b-4t2c-base-vm-ndr
8.00

oo == ES —

6.00 =
M
o
o
E 5.00
o
S
Q
o
24.00
<)
1
<
=
)
e 3.00
%]
©
o
2.00
1.00
0.00
1 2 3 4 5
Test Cases [Index]
m 1. (10 runs) 2n1l-10ge2p1x710-dotlqg-
[2bdbasemaclrn-eth-2vhostvr1024-1vm
m 2. (10 runs) 2n1l-10ge2p1x710-eth-I2bdbasemaclirn-
eth-2vhostvr1024-1vm
m 3. (10 runs) 2n1l-10ge2p1x710-eth-12bdbasemaclirn-

eth-4vhostvr1024-2vm
4. (10 runs) 2n1l-10ge2p1x710-eth-I2xcbase-eth-
2vhostvrl024-1vm

5. (10 runs) 2n1l-10ge2p1x710-eth-I2xcbase-eth-
4vhostvrl024-2vm



